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<AD—F> <Ba—+hF> <Ca—+hF>
No| F— L% |vs| F— L% =¥ No| F— L% |vs| F— L% =¥ No| F— L% |vs| F— L% =¥
1| BERA |[vs| AR K11 1| #E |vs|HBELXTF| E&% 1| s (vs| ARRERI | BoE
2l KL vs| AT 7R 2l E&  |vs| I R 2l BeE |vs| BEARB | L&
31 AR |vs| K = | BT |vs| E# JI| s 3| A& |vs|  BaE REAB
4] BERA |vs| AT REAA 4 FERE  |vs| I &= 2 4| FEME |vs| FEAB FERRER
5] BEARA |vs| K/ PaR 5| kR |vs| EF& | WELT 5| FEMRE |vs| BeE | AREH
6] AR |vs| AT REAA 6l HERT |vs| Il e 6] L& |vs| FEARB FERRER
7| BEERA |vs| E£ JUTIE 71 okl vs|  BeE AEAB 1 FE |vs| FEME | L&
8l #R |vs| JIE x4 8] AT |vs| REAB i pEd 8| WELT |vs| ARRVER | FTHE
ol BEARA |vs| JIIE 7R ol kNIl |vs| BEAB N o FE |vs| \NRE&M | HELT
0] @R |vs| E& REAA 100 AT |vs| BE K 10| ®EE ¥ |vs| FEMRER 3R
11| BRA |vs| BoE REA B 11l kI |vs| FR | BERT|| 11| E£& |vs| FERE | ARKREH
12| AR |vs| REAB fE 12| AT |vs| BERTF| FE 122 g |vs| ARERI | SERRE
13| BEARA |vs| FEARB 7R 131 kI |vs| ELXF| A& 13| E&  |vs| ARER | I
141 AR |vs| BE AEANA 141 AT |vs| ZEERE K 14]  JilE  |vs| FERRER %
151 HEARA |vs| FEME | /K2R 151 kI fvs| E#& N 15| 3RR |vs| BeE REAB
16] AR |vs| ARRER | FERRE 16 AT |vs| JIF vl 16| ®E ¥ |vs| REAB fsE
17 BeRA |vs| ARRER | AR 170 oKk fvs|  JIiE &= 2 171 &R |vs| FEAB | HELT
18] AR |vs| FERRE REASA 18] AT |vs| E& vl 18| BT |vs| BE 3R
19] fEARA |vs| TR | BELTL) 19 kI |vs| FEHME | ARER 9] E&  |vs| BeE BEAB
20 AR |vs| BWERT| FE 201 AF  |vs| ARER | FTHE 201 I |vs| FEAB fE
21 BEARA |vs| HELT| AR 211 K |vs| ARERI| AFE 21] E£& |vs| FEXB J1
22) AR |vs| F#ER ARANA 22 AFE |vs| FEEME K 22 s |vs|  B5E %




